DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

TBC : PNT2018

TEST BOOKLET SERIES

11,
12.

~ Before you proceed to m

Roll No.
Sr. No. 1 5791
Time Allowed : 2 Hours] ' [Maximum Marks : 120
' INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION YOU

SHOULD CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR
TORN OR MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A

ENCODE CLEARLY THE TE ET SERIES A, B, C OR D AS THE CASE

You have to enter your Roll Numb
top. DO NOT write a
This Test Booklet conta
English. Each item con
you want to mark on
correct response, mark
ONE response for each
You have to mark all youy
erasing/correction fluid is 3
All items carry equal mark

est Booklet in the Box provided at the
hing e]se on the Test Bo

m is printed both in Hindi and
ou will select the response which .
el that there is more than one
best. In any case, choose ONLY

parate Answer Sheet provided. No

esponse to various items in the
Test Booklet, you have ¥ nswer Sheet as per instructions
sent to you with your Admit : '
After you have completed filling in a nses on the Answer Sheet and the examination

has concluded, yoi should hand over to the Invigilator only the Answer Sheet. You are

" permitted to take a h you
Sheets for rough a P nd gokl} Hhe end.
Penalty for wr

THERE WILL B TY (NE&JIVE KING) FOR WRONG ANSWERS

MARKED BY A CAND ITYPE QUESTION PAPERS.

® There are four alternatlves for the answers to every question. For each question
for which a wrong answer has been given by the candidate, one fourth (0.25) of
the marks 3531gned to that question will be deducted as penalty

(@) If a candidate gives more than one answer, it will be treated as a wrong answer
éven if one of the given answer happen to be correct and there will be same penalty
as above for that question.

(iii) If a question is left blank i.e. fo answer is given by the candidate, there will be

no penalty for that questlon
In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final
CARRYING AND USE OF ELECTRONICSICOMMUNICATION DEVICES IN

- EXAMINATION HALL ARE NOT ALLOWED.

DO NOT OPEN THIS TEST BOOKLET UNTILl YOU ARE ASKED TO DO SO

Note : Hindi version of the instructions is printed on the back cover of this Booklet.

T &

m%ﬁmwwaﬁﬁ@éwmw%l
1 P.T.0.



- In the - 73rd constit-ﬁtional
amendment 1/3 seats for the woﬁen
ére reserved‘ n Panchaivats under
which Article ?

(A) Article 243A

(B) Article 24513

(C) Article 243C

(D) Article 243D

. ‘Electoral College’ for the election of |

- President of India consists"of;

(A) All the membefrsl of Parliament

(B) All ‘the emibers of State
Legislative Assemblies

(C) All the elected members of

both Houses of Parliament and

elected members of Staté

Legislative Assemblies

(D) None of the above

TBC : PNT2018—C

Which Article of Indian Constitution
empowers President all the
executive poWers ?

(A) Article 52

(B) Article 53

(C) Article 54

(D) Art.ic]e‘ 55

Wh(; gives final verdict on Money
Bill, 2 |
(ANPresident

(B) Prime. Miﬁister

(C) Supreme\ Court

(D) Speaker of Lok Sabha

. - Within which time period an

ordiriance promulgated by the
President be laid down before both
the Houses of Parliament after their

.;['easseinble 7
(A) Six months

(B) Six days -

. (C) Six weeks

(D) Two months



1. 73&‘. dfaur weied ¥ e aﬂ%av £
st e # Heens 3g T foerd
O e ® ® ¥ ?
(A) 3R 243-T
(B) 3T{=R 243-d
(C) oTT=R 243-4i

(D) 3TT=R 243-%

9. WRG & Udfd.Rg g@ wea # A |

gfigfaa 8d ¥ ¢
(A) TOE & |ft 95
B) T faurdesal & aff @&

(C) §9g & <TIAl WAl wd U

fayrmuea & At I gL TEH

(D) STgF |t

TBC : PNT2018—C

T 1 FE SIS T ) wSH
FEER ORkE YeH w2

(A) TR 52

(B) 3IT=% 53

(C) IT=% 54

(D)aﬂ%a%
v fadgs & an § wsf<g fofg .
FdME 2

(A) Treegfa

(B) &= Hll

(C) wared =Eared
(D) Wik H FTAY

e2afd BRI ST ALY THE §3 T
TN % fhdy I9g & 3T TSH & UeH

W T e T 7

(A) 6 HE
(B) 6 fea
(C) 6 e

(D) 2 .98
BA.O.



How many writs can Supreme Court

of India issue under Article 32 ?
(A) 3
(B) 6
(C) 4

D) 6

Idea of Directive Principles of State

Policy has been borrowed from

Constitution of which country ?
(A) Britain
(B) Ireland
© UsA
(D) France

Which Article of Indian Constitution
provides the right to form a political

party ?

(A) Article 132
(B) Article 111
(C) Article 32

(D) None of the above

TBC : PNT2018—C

10.

11.

Article 1 of the Constitution

describes India as :

(A) A Union of States

(B) A Quasi-Federal State

(C) A Federation
(D) A Confederation -

What was the total strength of Lok

Sabha on 31st December 2017 ?
(A) 538
(B) 537
(C) 542
(D) 550

The First Factory Act was passed in

the time of :

(A) Lord Canning
(B) John Lawrence
(C) Lord Ripon

(D) Lord Dufferin



6.

IR 32 & IITIG Haled AT
fraT TR & IR SO ® TEHa
g ?

(A) 3
(B) 5
C) 4
(D) 6

Hifq-feve fagra =1 fomr f6w <
% wfaws ¥ fan w2

A) foA
(B) 3MAIS
(C) 3mfEm

(D) g

R WG T PIFET SR TSI
el A ® Wit @ ¥ ?

(A) TR 132

(B) =% 111

(C) =R 32

D) 3w & ¥ FE T

TBC : PNT2018—C

10.

11.

Gfag™ &1 a=R-1 WRa &I 9 §Y
# R &t & ?

(A) T& T H G
(B) Th HG-HHIHR T
(C) T ¥H

(D) & ufEd

31 feEmR, 2017 H dlF 991 H FHA
Teega farat o 2

(A) 538
(B) 537
(C) 542
(D) 550

g T ¥ wum el afuftam
RUEC G|

(A) wfE &fm
(B) W1 @i
(C) @rE fm

(D) wfE THEA

P.T.O.



12. Who of the following does not

13.

14.

represent the Nationalist critique of

the Colonial Economy ?
(A) D.R. Bhandarkar
(B) Dadabhai Naoroji
(C) R.C. Dutt

(D) Sachidanand Sinha

Who presided over the Congress
Session in 1905 which supported the
Swadeshi and Boycott Movement for
Bengal ?

(A) B.G. Tilak

(B) Lajpat Rai

(C) C.R. Das
(D) G.K. Gokhale

What name was given to the head-

quarters of Ghadr paper in the
USA.?

(A) Deshantar Ashram
(B) Yugantar Ashram
(C) Ghadr Ashram

(D) Bharat Ashram

TBC : PNT2018—C

15.

16.

17.

When was the first walk-out
organised in the Legislative Council

during the colonial period ?
(A) 1901
(B) 1902
(C) 1904
(D) 1905

Curzon-Wylie was killed in London
by :

(A) Rash Beﬁaﬁ .Bose
(B) Ajit Singh

(C) Madan Lal Dhingra
(D) .Khudj Ram Bose

Of the following, who was not the
member of the Interim Government

in 1946 ?

(A) Sardar V.B. Patel
(B) Jagjivén Ram
(C) Baldev Singh

(D) B.R. Ambedkar



12.

13.

14.

frer & % ifrfe sefemen =
AR T TeGd T FA X 2
(A) SN YUSHHL

B) TRIeE AR

©) s T

(D) wfaer= fa=l

1905 2. T Y AYAYH T emegr |

fre =1 foed ome @ @Rl aem
SfeR S B GE T 2
(A) @tsft. foors

(B) Fﬂﬁﬂm el

(C) W3R T™

(D) . e

SR (U.S.A.) # 751 TR & qeem

® F AW e T ?
(A) TR 3T
(B)Wanam
(C) TIX A

(D) HG A4

TBC : PNT2018—C

15.

16.

17.

sufafis w0 § faam-ufog @
TIH G- (walk-out) e A@Sd
g ?

(A) 1901

(B) 1902

(C) 1904

(D) 1905

ded H Fwe{a-arge! #1 el fREd
F 2

(A) TRl &

(B) 31siia fuz
(®) Wﬁcﬁm :
(D) CERM 99

= 4 =1 1946 2. # oW ¥R

F W @l a7

(A) TER dea¥qs 9ed
(B) SITSiie W

(C) wed g

(D) IR, TR

P.T.O.



18. The Rehnumai Mazdeyasan Sabha

19.

20.

represented the spirit of Reform

among :

(A) the Anglo-Indigns
(B) the Parsees

(C) the Muslims

(D) the Hinldus

Of the following persons, who is
not matched correctly with his

newspaper ?

(A) Dadabhai Naoroji — Indian

Mirror

(B) B.G. Tilak — Kesari

(C) Sisir Kumar Ghosh — Amrit

Bazar Patrika

(D) G.K. Gokhale — Sudharak

From which Art Abanindranath

Tagore did not seek inspiration ?
(A) Mughal

(B) Ajanta

(C) Rajput

(D) New Zealand

TBC : PNT2018—C

21.

22.

23.

Who founded severél' Vedanta

societies in the West ?

(A) Ha? Dayél

(B) Gopal Hari Deshmukh
(C) Vivekananda

(‘D)- Raja. Ram Mohan Roy

The Deoband Programme of study

was reduced to :
.(A) 9 years.
(B) 6 years
(C) 8 years
(D) 5 years

The first Director-General of the

~Archaeological Survey of India

was . -

(A A Cunningham

(B) M. Wheeler

(C) Sir John Marshal

(D) Daya Ram Sahni



18. TR WeeHEd |l fwwd gur #1 | 21, ufvew § fewn fafy= e wwsdt =t

IS g w E 2 O & 2

(A) TA-¥feaw B (A) T

(B) URfgdl i (B) el &R dwgE
(C) HeHE Hl | (C) foomrre
®) fege (D) T TEHE T

19. Tr=fafea sl § &H 27 ga=R- | 22. 396 o1 fen-wdsd "ot foa

TH % WY e gafad @ 8 ? o T 2
(A) TEE AR — sfemd i (A) 9 =
B) . few — Hud B) 6 T4

(C) TofR AR =M — 379d SR 9fe (C) 8 =

(D) St.&. TEE — FUNE D) 5 T4

20. foFg wem ¥ AT R ¥ on T | 23, WA Qe GH AV w1 qUH

ot 2 . SRR FH a1 2
(A) T (A) T wHfEm

(B) ¥l ' | (B) TH. =R

© W@ | © m s i

(D) =efe | D) e

‘TBC : PNT2018—C | 9 P.T.O.



24. Which of the following, opened a

25.

co-education school in Moga
(Punjab) in 1899 for improving the

position of women ?
(A) The Arya Samaj
(B) The Prarthana Samaj

(C) Singh Sabha

(D) The Dev Samaj]

The first book written by Mahatma

Gandhi, was :

(A) The Collected Works of

Mahatma Gandhi

(B) The Story of My Experiments

with Truth
(C) Hind Swaraj

(D) The Harijan

TBC : PNT2018—C

10

26.

27.

Which of the'following Social
Reforms was not considered
essential by Gandhi for the

transformation of society ?

(A) Hindu-Muslim unity

(B) Abolition of Varna system
(C) Swadeshi

(D) Abolition of Untouchability

The Dandi March was started by

Ga;ndhi on :

(A) March 10, 1930
(B) March 15, 1930
(C) March 21, 1930

(D) March 12, 1930



24. T # @ foed fodl 1 TR QIR & | 9 wifeft ¥ wow-uReds & fow =t & @

fam 1899 3 # U % HM A TH

I GUR W FER ST SevEsd T
we-foen fooea @en ?
, qug ?
(A) 3 Tu
(A) Te=-giem T
(B) Wi gt
' (B) Svi-oHere i HHIE
(C) Tag &
D) 39 T (C) =gl

25.Wﬁﬁﬁ.mmﬁqﬁw (D) STEgedal i HHIME

foret ?
27. T J TE-"E wE IRY fEE ?

(A) & Foees o % Fere ey
_ (A) 10 =, 1930

(B) f& =Rt e 92 vaEaie=y fog
(B) 15 #4, 1930

B
©) f @S (C) 21 74, 1930

D) fg sfem (D) 12 7€, 1930

'TBC : PNT2018—C | 11 P.T.O.



28.

29.

In which special session of the

- Congress, Gandhi presented for

approval his idea of Satyagraha

against the government ?
(A) Bombay, 1918_

(B) Ahmedabad, 1921
(C) Calcutta, 1920

(D) Amritsar, 1919

When did Gandhi realise that his
struggle in India was not based on

the Non-violence of the Brave ?
(A) 1947
(B) 1948
(C) 1942

(D) 1940

TBC : PNT2018—C
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30. Which is not the feature of Gandhi’s

31.

theory of Trusteeship ?

(A) change of capitalist society into

an equalitarian one

(B) fixation of upper and lower

limits of incomes

(C) character of production to be

determined by social necessity

(D) government should be made

the owner of the lives of people

Which of the following rates is not

determined by RBI ?
(A) Bank rate

(B) SLR

(C) PLR

(D) CRR



08 G & g fasiw afrdym § et 3 | 30. et S =i (Trusteeship) % g

TER 3 foeg o wemwE & e &1 Hre oo @ v 2

# wipa & fag wqa fF= 2 C(A) YoferRt T ® gEdERl S
(A) T, 1918 . | (B) St aen Foret o w6 e P
HT

(B) ¥TEHeETR, 1921
() G I SETIHA B MEUR W
(C) Haww, 1920
IqEA &1 wWey fuifa @
(D) SR, 1919 | |
| (D) SR H HfFE & Sad H

- 99, TiE W FA f® |
, T P & WE S

g # Hus gl i aﬁ'mw
31, yre fiod ¥ g fr= 8 @ e

smenfia T e ? -
o fruifa & = Wt € ?
(A) 1947 A) .ﬁa; -
(B) 1948 (B) TH.TH.3X.
(-C) 1942 | (C) U.UA.3AR.
(D) 1940 (D) §IL.3R.IAR.

TBC : PNT2018—C 13 e P.T.O.



32. Who is known as the father of 35. Who recommends the MSP and

‘White Revolution’ in India ? . N
issue prices ?

(A) M.S. Swaminathan :
(A) Ministry of Agriculture

(B) B.P. Pal

(C) K.N. Bahl (B) Commission for Agricultural

(D) V. Kurién Costs and Prices

33. When did the Kisan Credit Card (C) NITI Aayog

Scheme for the farmers start in
: (D) NABARD

India ? -

(A) 1995-96 | 36. Indian economy is a type of :

(B) 1998-99 (A) Capitalist economy
2005-06 o |

il (B) Socialist economy

(D) 2007-08

‘ ‘ (C) Mixed economy
34. The concept of Small Scale

Industries (SSI) was brought to force (D) Monopolistic economy

by the : _
37. When has the Population Policy

(A) Industrial Policy Resolution,

been implemented ?
1948

(B) Industrial Policy Resolution, (&) Toth February, 2000

1956 (B) 15th February, 2001

(C) Industrial Policy Statement,

(C) 15th February, 2002
1977

(D) None of the above (D) 14th February, 2000

TBC : PNT2018—C 14



32. ‘va@ wife' F SFH FRA FE G | 35, =gew gudd ed au1 3vg Hd F HE
g ?

g ¥ 2
A T, @HAEEA _ ,
(A) T-T8 (A) W ==
(B) sI.9t. 9o g
(B) Fft & WA hima AN
(C) H.U4. &&d )
(C) ifa smam
(D) Eﬁ EateEl :
. ' (D) ETE
33. 9d # T & fou feam wfee = :
S A I A O 2 36.Wa1ﬁwawmm§ﬁ%?
(A) 1995-96 : (A) Usiawt steferaen
~ (B) 1998-99 (B) WENERT ALdegaEen

D) 2007-08
v (D) ThTfoeRTes:  Srefegares

34. fhg siefie +ifa g &g <= &t

37. SHuEd Hifa wa @ W R ?
IFYRI T TE ? |

. (A) 15 HEE 2000
(A) 1948 =1 Enfs ifd Haed

(B) 1956 @1 3iifes ifq wehew (B) 15 ®TRl 2001
(C) 1977 w1 shefies fifa s © (0 15 W 2002
D) s § ¥ B T D) 14 wEH 2000

TBC : PNT2018—C 15 - P.T.O.



38. What is the basic objective of Public

39.

40.

Distribution System in India ?
(A) To control market price

(B) To ensure food security for poor
(C) To control black marketing
(D) To encourage export

The second green revolution is

focused on :

(A) Agriculture stability

(B) Environment issues

(C) Reducing rural imbalances

(D) All of the above

Which sector of Indian economy has

disguised unemployment ?
(A) Agriculture

(B) Industry

(C) Services

(D) Manufacturing

TBC : PNT2018—C
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41.

42.

43.

One horsepower of electric power is

equal to :

(A) 746 Watts
(B) 1000 Watts
(C) 373 Watts
(D) 220 Watts

When a bar magnet suspended
freely with a thread, it will always

rests along :

(A) South-Nor1;h direction
(B) North-South direction
(C) East-West direction
(D) West-East direction

The main constituent of the

compressed natural gas (CNG) is :
(A) Butane
(B) Methane
(C) Ethane

(D) Propane



38.

39.

40.

IR H HEsie foaeor gone w1 qed
IRV FE ?

(A) A F F) R
(B) Ti&l H W T <

(C) FETETSH e

(D) frafa = sg@n e

fadii =t it o1 o9 fope W S
T ?

(A) Ffe feorta
(B) TTERW 39

(C) THIv AGHFAE Tl

(D) 3w |t

TRAT e & fog &3 § fod

& e T W 2

(A) HiH
(B) &M
(C) Tard

(D) fafmio

TBC : PNT2018—C
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41.

42.

43.

foea ol +1 T swa-vifd sk
g

(A) 746 49t
(B) 1000 =2
(C) 373 ar
(D) 220 =1

Wd TH B g% hl TH 96 & 9y
Wad ®Y Y T, df 98 enaen fer
@ ¥ o

(A) efeu-Iwm fowm #

'(B) IR-cfao foem o

(C) yd-ufyem fewn &
(D) ufvem-Td fmr E: |
Tifed wiehfaeh T (E.TA.sf. ) 1 3=

orc -

P.T.O.



44. The short sightedness (myopia)

45.

46.

defect in human eyes can be

corrected by using :
(A) Plano-concave lens
(B) Plano-convex lens
(C) Concave lens

(D) Convex lens

Which one is responsible for souring

of milk ?

(A) Citric Acid

(B) Lactic Acid

(C) Acetic Acid

(D) Formic Acid

Which of the following is the most

abundant metal in Earth’s crust ?
(A) Iron

(B) Aluminum

(C) Calcium

(D) Sedium

TBC : PNT2018—C
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47.

48.

Atoms of different elements with
different atomic numbers, which
have same mass number are

known as :
(A) Isomers
(B) Isotopes
(C) Isochors

(D) Isobars

Which of the following pollutants is
the major cause of respiratory

diseases ?

(A) Nitrogen oxide

(B) Carbon monoxide

(C) Suspended fine particles

(D) Volatile organic ciompounds



44, W9 Al § feRegie (WEITGAT) i

F H 9 & ITEN = ™ S
fvan w1 W& ® |

(D) 3T @9

45. 39 & WU & fau smE fSEER

¥ 2

(8) wEfew tfas
(B) <ifRs ufae
(C) Uwiifew e
(D) it e

46. Yl w1 WA § Had AfuE gL wmEn

H H U T 2
(A) e

(B) UM
(C) ST

(D) Hfezm

- TBC : PNT2018—C
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47.

48.

fafs= o gemss & mg fafes
dell & 317, foeh v 9HA T 9R

T,k ®YOH M SR

(A) 3TEEM

(B) Twyrih

(C) SMEEER

) s
ﬁwﬁ@aﬂﬁmwwﬂﬁ?ﬂ
TE FR T 7

(A) RIS 3HFES

(B) &Ed HHERTRES

(C) fomifom gewrm

(D) ofSqq wrEfaes AT

P.T.O.



49. Who discovered the nucleus in the | 21+ 1risul Peak lies in the state of :

(A) Himachal Pradesh
cell ?

(B) Odisha
(A) Robert Hooke
(C) Uttarakhand

(B) Robert Brown (D) Uttar Pradesh

(C) Purkinje 52. Which one of the following is not a

biosphere reserve ?
(D) Leeuwenhoek

(A) Manas

50. Bats search their prey and fly in .
(B) Nokrek

dark night by emitting and detecting (C) Pachmarhi

reflections of : (D) Ranthambore

(A) Infrasonic waves 53. Ramsar Convention was held in :

(A) Afghanistan
(B) Ultrasonic waves

(B) Iraq
(C) Ultraviolet waves

(C) Iran
(D) Infrared waves (D) Turkey

TBC : PNT2018—C 20



49. Fifve ¥ ifis w1 @ e @t ?

50.

(A) U2 TF

(B) a2 o=A

(C) dfm=

(D) TgoTelh

wETEE oM TR ® @ AR

S0 @ A Iz & foau frefafed @

3gfefd T e WE O §

(A) 3@ T
(B) TUH a4
(C) T a4

(D) 31EEd Tl

TBC : PNT2018—C
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51.

52.

53.

oy 9 fem ooa # fem 7 2
(A) femam=e wew

(B) snfewm

(C) IS

(D) IR Feu

= ¥ ®F T Stensa SEd
Wy

(A) A

(B) Aihish

(C) T

(D) TR

TS 9cq el et fean

a1 2
(&) STETERAH
(B) =&

(C) §H

(D) !

P.T.O.



54. Karewa soil is found in the state of :

55.

56.

(A) Arunachal Pradesh
(B) Himachal Pradesh
(C) Jammu & Kashmir
(D) Uttarakhand

Which one of the following is not a

deciduous tree ?
(A) Arjun

(B) Gurjan

(C) Palas

(D) Sal

Which one of the following rivers

flows from east to west ?
(A) Dibang

(B) Lohit

(C) Manas

(D) Subansiri

TBC : PNT2018—C
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o7.

58.

Which one of the following

separates the Andaman from

Nicobar Islands ?

| (A) 8° Channel

(B) 9° Channel

(C) 10° Channel

(D) 11° Channel

Which one of the following is not

correctly matched ?

Dam River
(A) Dulhasti — Chenab
(B) Rihand Dam — Ken
(C) Pachet Dam — Damodar
(D) Tehri Dam — Bhagirathi |




54. wyan fogt few woa # WE W 2

95.

56.

(A) 3TEUEA T

(B) femaet wew

(C) 9 iR HYER

(D) IES
fr=afafed § 4 SFAE TH JoAEE 94
T e ?

(A)

(B) TS

(C) TdART
(D) ¥

o & @ B T @ e
Tl T ?

(A) feam
(B) &ifed

(C) HrH

-(D) LSEEIE

TBC : PNT2018—C
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o7.

58.

Frefefen & & S e FEER -

TR ¥ THM FI I FI@ § 7

(A) 8° =
‘ (B) 9° =7
(C) 10° =
(D) 11° =
frerfafea § @ ﬁw W& gafem &
T 7
g T
(A) g — ﬁ:na_
(B) f&= — A
(C) wed — T
(D) feedt — i
P.T.O.



59. Asian Disaster Preparedness Centre

60.

1s at :

(A) Bangkok

(B) Kerala

(C) Surat

(D) None of the above

How much of India’s coastline is

vulnerable to Disasters ?

(A) 5340 km

(B) 5400 km

(C) 6200 km

(D) 5700 km

TBC : PNT2018—C

61.

62.

24

Which raja of Nurpur princely state
built the Taragarh Fort in the

territory of Chamba princely state

around 1625-30 AD ?
(A) Basu

(B) Jagat Singh

(C) Jai Singh

(D) Rajrup Singh

What is the name of Yogi who
guided raja Sahil Varman of
Chamba princely state regarding

the site of new capital of his

state ?

(A) Gorakhnath

(B) Bholanath

(C) Charpatnath

(D) Balaknath



59.

60.

Tfyrr emue @i gEa w5 feem

(A) T
(B) &
(C) g
(D) SHH § | = T

TR q2iEl &1 fohaar 9 3aer o

gifaq © 7

(A) 5340 TereirHiex
(B) 5400 e
(C) 6200 foreTt

(D) 5700 fawemHTeR
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61.

62.

1625-30 3Hat & STEYE T R

% g e A g e & a9 |

TR fEen @ ?
(A) =9

(B) s fug
(C) = fag

(D) usrEy fog

3G AT O N AW of faEd =l
fama & usn @ifgd 999 =1 e
1 T3 TSUE 1 e g 8 ariee

faram 2

(A) TREAY
(B) eI
(C) =XFeA™

(D) STeTehTY

P.T.O.



63. Which Mughal emperor got a

64.

65.

mosque  built inside the Kangra

Fort ?

(A) Humanyu
(B) Akbar
(C) Jahangir

(D) Aurangzeb

Which European traveller travelled

from Nahan to Jammu via Nurpur

around 1783 AD ?
(A) Harcourt

(B) Forster

(C) Vigne

(D) Bernier

Which raja of Kl was taken

prisoner by the Suket princely
state around 850-900 AD ?

(A) Sidh Pal
(B) Bahadur Singh
(C) Bhup Pal

(D) Bidhi Singh

TBC : PNT2018—C
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66.

67.

68.

Around which century was a treaty
signed between Raja Kehri Singh of
Bushahr and Tibet ?

(A) 14th century
(B) 15th century
(C) 16th century
(D) 17th century

Where was a decisive battle fought -
between the Gurkhas and the -
British during the first quarter of

nineteenth century ?
(A) Jaitak Hills

(B) Haripur Dhar
(C) Sain Dhar

(D) Dharthi Dhar

Who founded the ruling dynasty of

Hindur princely state ?
(A) Bir Chand

(B) Ajit Chand

(C) Kahal Chand

(D) Bik Chand



63.

64.

65.

g gl TEE 4 Frel fahed & ot
Hftsg aaE 7

(A) 3

(B) 1R
(C) SR
(D) ST

09 & fRE st 7 1783 dWdl &
I AT § TR A gL ST B

aE A ?
(A) BTHE
(B) HITH
(€) fam

(D) @R

850-900 THal & EYH Fehd fEmdd
I W & AW TS W S T ?

(A) g T
(B) =rergt T8
(C) 49 et

(D) fafy fag

TBC : PNT2018—C
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66.

67,

68.

UL & TS ded f6E IR foea &
nwmvﬁﬁﬁag?

(A) 147 =

(B) 15dT wal

(C) 168t el

(D) 17 &

Il T I gEel AT & SRH TRl
A s & wen Ty oM W ot

5 gl ?

(A) waw feed
(B) B X
(C) ¥ 4R
(D) HRel ¥

et fama & wos 49 ® T

. e &t 2

(A) I 9=
(B) &id 9=
(C) Flgd o<

M) foF =<
P.T.O.



69.

70.

71

Which two Thakurais were made
subordinate to Jubbal princely state
in 1896 AD ? |

(A) Rawingarh and Ratesh
(B) Rawingarh and .S_angri
(®) Rawingath and Khaneti
(D) Rawingarh and Dhadi

Which raja of Bushahr acted with
hostility towards the British during
1857 mutiny ?

(A) Shamsher Singh
(B) Mahinder Singh
(C) Ugra Singh
(D) Rudra Singh

Which one of the following was
sentenced to death in Lahore
conspiraéy case, which was later on

reduced to life imprisonment ?
(A) Hi.rday Ram

(B) Hardev

(C) Mathra Das

(D) Mian Jawahar Singh

TBC : PNT2018—C
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72.

When did Narendra Mandal
(Chamber of Princes) come into

existence ?

(A) 1911 AD
(B) 1915 AD
(C) 1921 AD

(D) 1927 AD

73. According to 2011 census which

74.

district of H.P. has the lowest

percentage of S.C. population ?
(A) Kullu

(B) Bilaspur

(C) Lahaul-Spiti

(D) Hamirpur

Which mountain pass is located at

the highest altitude ?
(A) Kangla

(B) Parangla

(C) Kumjam

(D) Darati



69.

70.

71

fo 21 Suedl i 1896 o ¥ Jew
formg & ardm & femr w2

(A) T R qwm
(B) TEtTg ok i

(C) TETE S '

D) T @ wet

1857 % T fagie & < et e
& o =T A ST & WY Ui SFeEr
[EXI |

(A) ¥R TR

(B) wes feig

(C) 3u faz

(D) %z fag
fretferfag 3 @ fFY o weT @
ﬁq@@gﬁmw,ﬁﬂaﬁﬁaﬁaﬁ
FNEE H aed fear w2

(A) &<a 1™

(B) <@

(C) AR

M) T s fog

" TBC : PNT2018—C
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72.

73.

74.

T Hed (I 1 foasr) St s
FH T ? |

(A) 1911 & =1

(B) 1915 3. =

(C) 1921 §.

(D) 1927 5. I

2011 T SFAVAT % STER fe.0. = 6
frat # i il 9 o
yfaerd wad mr oq ?

(A) He]

(B) foremage

(C) VHTE@-Fﬂ'\:d

(D) BHRE

FIFH qadrg <0 T fuE SuE W
T ? |

(A) W'
(B) TR
(C) %™

(D) <l

P.T.0.



75.

76.

717.

Which lake is located between Dodra-

Kawar and Sangla (Kinnaur) ?
(A) Karali

(B) Kareri

(C) Ghadasaru

(D) Bradonsar

Given below are the names of some

rivers and their tributaries. Find |

the mis-match.
(A) Yamuna — Jalal

(B) Satluyj — Andhra

(C) Beas — Spin

(D) Chenab — Miyar

Which glacier feeds the Pabbar

river ?

" (A) Kulti

(B) Shilli

(C) Chandra-Nahan

(D) Pacha

TBC : PNT2018—C
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78.

1 79

80.

Near which town of Mandi District

of H.P. is Shikari Devi sanctuary ?
(A) Jogindernagar

(B) Sarkaghat

(C) Pandoh

(D) Sundernagar

With which region of H.P. is Phulech

festival mainly associated ?
(A) Bharmaur

(B) Kinnaur

(C) Sirmaur

(D) Saproon

When does the Minjar fair begin in

Chamba ?

(A) Firsi; Monday of Sawan month
(B) Second Sunday éf Sawan month
(C) .First Monday of Bhacion month

(D) Second Sunday of Bhadon

month



75.

76.

77.

SEU-FR AR wimen (fe=in) & o=

F ot fem ¥ 2

(A) Tt
(B) HH
(C) w=sEa®
(D) STERR

T Fp Rd & el T wmEw
SRS ® AW §1 s § e @
TR |

(A) I — A

(B) Wagsl — amen
(C) &I| — fam
(D) feEm — fgar

TR R FAE FHE e ¥ 2
(A) Hed
(B) fereett
(C) ==red

(D) 9r=n

TBC : PNT2018—C
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78.

79,

80.

ot 241 F-5oi o e
W % 7Et o & forw o9 & U
T

(A) SR

(B) TR

(C) ¥SrE

(D)m

Bed SR feu. & fhe d 3 7=
w1 W e ¥ ?

- (A) YR

(B) faF=iR
(C) fawir
D) = | |
T H1 SR e fhe e &
g 7
(A)maqn%ﬁ%%ﬁmﬁ
(B) WFH WY F TR TR #
(C)*ﬂa‘iﬂéﬁ%qﬁ@f@qar{ﬁ
(D) 9l AEH & TR Toar #
P.T.O.



81.

82.

83.

Which among the following schools
of painting deals with Nayak-
Nayika theme of Rasikpriya of

Keshavdas ?.
(A) Chamba
(B) Basholi

(C) Arki

(D) Bilaspur

Which one of the following temples

is in Pagoda style ?

(A) Hidimba (Manali)

(B) Lakshna Devi (Bharmaur)
(C) Shikari Devi (Chhitrari)

(D) Hateshwari Devi (Hatkoti) |

Approximately how many services
are covered in H.P. under Public

Serv_ice Guarantee Act ?
(A) 127 |

(B) 147

(C) 167

(D) 187

TBC : PNT2018—C
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84. At which place in Chamba District

85.

86.

of H.P. there is a sheep-breeding

farm ?

(A) Bathree
(B) Sarol
(C) Mahla
(D) Banikhet

In which District of H.P. is Suketi
Fossil Park ?

(A) Mandi
(B) Shimla
(C) Sirmaur

(D) Solan

‘Which princely state owned the

Bantony building of Shimla town

and used it as summer palace ?
(A) Jubbal
(B) Keonthal

(C) Patiala

(D) Sirmaur



81.

82.

83.

frefafeg 4 4 <@ foowen wom
FHYTIET hi TEH AT -1 TH
FARAEF ?

(A) =
(B) e

(C) 3=}

(D) feemag -
frefafea § & s af<t e St
FE?

(A) fefemn (wATER)

(B) @& qE (WER)

(C) Frert 2 (foaudl)

(D) ®everl <ol (@)

feu. 4 amyn foa) Jamd ufestsr gfdg
TR TR & HdA i #t & W

g ?

(A) 127

(B) 147

(C) 167

(D) 187
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84.

85.

86.

By & 9= f9a # ffm R | 9
T T HH &2

(A) =l
(B) Tl

(C) #&en

| (D) s=Eq

g e WE few B e e A
2

(A) TUE

(B) femen

(C) TR

(D) WM

oo Wet Y St WS FR -
FHEH Hed B &9 °H §AM fHar s
o1, feg faamma =1 of ?

(A) e

(B) Fiud

(C) ufearet

(D) feHr

P.T.O,



87.

88.

89.

Who founded the Shri Dhami
Prem Pracharn-i Sabha in July
1939 AD ?

(A) Pandit Sita Ram
(B) Bhagmal Sautha
(C) Satyadev Bushahri
(D) Dina Nath Andhi

What is the approximate percentage

o.f marginal holdings in H.P. ?
(A) 59.78
(B) 63.26
(C) 66.73
(D) 69.78

In which district of H.P. is Berra Dol
where a 5 MW solar project is

proposed ?
(A) Mandi
(B) Hamirpur
(C) Una

(D) Bilaspur

TBC : PNT2018—C
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90.

gl.

92.

When was Beti Hai Anmol Yojana

introduced in H.P. ?
(A) March 2009

(B) July 2010

(C) August 2011

(D) September 2012 |

Which President of India wrote
the book ‘The Turbulent Years,
1980-1996° ?

(A) Pranab Mukharjee
(B) A.P.J. Abdul Kalam
(C) K.R. Narayanan
(D) Ram Nath Kovind

Who was first President of B.J.P.
when it was established on 6th April
1980 ?

(A) Atal Behari Vajpayee
(B) Shyma Prasad Mukherji
(C) LK. Advani

(D) Murli Manohar Joshi



87. s 1939 $uet #H fRwy s wmht 99 | 90, aﬁ%mﬁmfg.uﬁmaﬂ .

TERU W HI TG & 2 ® ?

(A) feq (A) 7 2009
(B) Wra HiaT (.B) S 2010
(C) weRa et | (C) 3rmd 2011 #
(D) e st (D) o= 2012 #

88. f&w. ﬁxﬁqmusﬁﬁimuﬁrwmm 91. fo¥ urdlm wgufd ¥ ‘R el gad,

feam & 2 1980-1996" & foret ?
(A) 59.78 (A) ¥ g@@ﬁ

(B) 63.26 (B) TS 3 FHom
(C) 66.73 (C) $.3. TR
(D) 69.78 (D) =AY Hifae

89. Td WMERE F W I WR WA | g 6 e, 1980 H TN F WA Wi

fey. = fog o 4 weafom & 2 mﬁ%umﬁwaﬁ?'ﬁ?
(A) woet ' (A) 3 forrl =rsioa

B) TR (B) v TR

(C) = ' (C) T, i

(D) foemEg (D) e rra‘rawhrzﬁ
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93. Among the following who has been

94.

the Commanders-in-Chief of Indian

Army after independence ?
(A) General Sir Rob Lockhart
(B) General Sir Roy Bucher

(C) General (Later.Field Marshal)

K.M. Cariappa
(D) All of the above

In the Commonwealth Games at
Gold Coast 2018 in which sport all

the participants of India got medals.
(A) Shooting

(B) Wrestling

(C) Badminton

(D) Weight-lifting

TBC : PNT2018—C

36

95.

96.

9.

Who won the “Khel Ratna Award”
in 2017 ?

(A) Devendra Jhajharia
(B) Sardar Singh

(C) Devendra Jhajharia & Sardar
~ Singh both

(D) Dipa Karmakar

Who was the Chief Guest in the
68th Republic Day parade on 26th
January 2017 ?

(A) Prince of Abu Dhabi
(B) President of Iran

(C) President of Russia
(D) President of the USA

Who has been recently appointed
as Head of BCCI by the Hon’ble

Supreme Court ?
(A) Anurag Thakur
(B) Sharad Pawar
(C) Vinod Rai

(D) Rajiv Shukla



93.

= ¥ | SR S I aRdE 99

& FHS-F-U W@ 7

94.

(A) SRE W I TR
(B) & W g T

(C) & (S% # Wice ANTA) &.TH.

e

(D) Suds @t

2018 & Tice HIR § T FiATaey Bal
T 9yra & faenfedl = fag @9 d ot

wfawfrdl 1 e fren ?
(A) frmrarsit

(B)

(C) Sefa=a

(D) S=fafwmn

TBC : PNT2018—C
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95.

96.

97.

2017 & ©d ™ SR fHE fea

T 7

" (A) T g

(B) TR fag

(C) 3% g wd 9ER fag Ml
)

(D) <91 FHTEER

26 SHa, 2017 & 689 VAT feaw W
W A ge fafy 4 ?

(A) ﬂgﬂﬁr%w

(B) WM & T=gufd

(C) &9 & s

(D) srft & Tegufa

AAAE Fated =E@d = 9aam § fa
o e wo @ F s
fraea foman & 2
(A) ST IR
(B) T TEK
(C) forie T

(D) TSa e
P.T.O.



98. Which

99.

opposition candidate

contested Presidential election

' against ruling party’s candidate

Ram Nath Kovind ?
(A) Meira Kumar

(B) Meira Nair

(C) Rajmohan Gandhi
(D) Renuka Choudhary

Which Indian city has been declared
as World’s Heritage City by
UNESCO in 2017 ?

(A) dJaipur

(B) Varanasi
(C) Ahmedabad

(D) Lucknow

100. Who is appointed as chief of Film

Censor Board in India in 2017 ?
(A) Praéoon Joshi

(B) Anupam Kher

(C) Sharmila Tagore

(D) Babul Supriyo

TBC : PNT2018—C
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101.

102.

103.

Who has been awarded ‘Dada Saheb
Phalke Award for 2017 ?

(A) K. Vishwanath
(B) Dalip Kumar

(C) Manoj Kumar
(D) Vinod Khanna

Recently which longest road tunnel
between Srinagar and Jammu was

opened by the Prime Minister ?
(A) Chenani-Nashﬁ

(B) Dhola-Sadiy;a

(C) Zojila Tunnel

(D) Sandvin road tunnel

Which South Asian Satellite has
been launched by ISRO in May
2017 ?

(A) GSAT-17
(B) GSAT-12

(C) GSAT-09

(D) GSAT-07



98.

YR T & TUfd B e Ty
Hifa< & faeg faldt <o & yomwht &
®1 4 fFe 9@ e ?

(A) HRI FHER

99.

100.

(B) #r1 AR
(C) TsHrEa Tt
(D) TR =rerd

2017 ® F¥eR! R fRE YRATT v

fava ulet R s fman mn & 2

(A) I
(B) QRTorEt

(C) FEHIER

(D) W@ S

2017 H fFl yrdE fren T &g &
a9y g fe w2

(A) 99 Siei

(B) 3TqUH ER
(C) wIfden 2R

(D) st i
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101.

102.

103.

T 2017 1 I GRS HeH TEHE
f&q fcar mn 2

(A) &. favema
(B) feefy &R
(C) ¥ HAR
(D) forfe @m‘

I H AR 9 T % o R gl
o T GO B YUH WAl A SR
o 2

(A) TR
(B) een-wfean
(C) Sifsten g
(D) Fefaa Tew g

uizolwﬁs@ﬁmaf&mqﬁmré
Teomze =1 uqqy fHa 2

(A) S&e-17
(B) “d¥e-12
(C) SH2-09

(D) fe-07
P.T.O.



104.

105,

106.

Which has been thrust of “Paryatan
Parv” orgahized by Ministry of

Tourism from 5-25 October 2017 ?
(A) Ek Bharat Shrestha Bharat
(B) Ek Bharat Swatcha Bharat
(C) Ek Bharat Ek Sanskriti

(D) Ek Bharat Ek Vishwa

Among the following who was/were
conferred ‘Padma Vibhushan

Awards’ in 2017 ?

(A) Sharad Pawar

(B) Murli Manohar Joshi
(C) P.A. Sangma

(D) All of the above

Which date is being celebrated as

International Day of Yoga ?
(A) 21st June

(B) 5th March

(C) 24th October

(D) 25th December

TBC : PNT2018—C
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108.

109.

107. Who was given Bhupen Hazarika

National Award, 2017 ?
(Aj Hara'prasad‘ Das

(B) Yeshe Dorjee Thongshi
(C) Manu S. Pillai

(i)) Paro Anand
the Chief Election

Who 1s

Commissioner of India_?
(A) Om Prakash Rawat
(B) Achal Kumar Joti
(C) Navin Chawla

(D) N. Gopalswami

For the first time in October 2017
Ferry service in Gujarat has been

started between which places ?
(A) Ghogha - Dahej

(B) Bharuch — Kevadiyg

(C) Ernakulum — Kalamassery

(D) Kanniyakumari — Aloor Port



104. 5-25 3R, 2017 F YA T=e™ 107. 89 2017, 1 YUH &IRF T2 Toam -
g A ‘uded W @ A fag fry fan T 2

N oa ?
(A) TYEE T
(A) T YRd 92 YRd
| (B) 391 el st
(B) Toh 9d W= 44
LT (C) A7 wq. fueerg

D) 9H #E<
(D) % 9Rd TF fava ()_

105. 79 2017 ¥ =1 § 9 ford wgm faaqyy | 108 G ST & T 319 FH T ?

9 goifa fear w2 (A) SAyFRT Tad
(A) IR TR - (BJWW?ﬁ?ﬁ
) R e e () e e
(C) W, Fm e
(D) 39 Fft =

109. SR 2017 H TG # WUH SR A

106. fre fafy =1 i 9m C
) g Qo {7 T & wem gy gg 2

w7 H HAE ST § 2

(A) 21 SA ki

&5 5 (B) w&" — FHared
(C) 24 R (C) 3OMRETH — HTAHEd
(D) 25 fegmr (D) FHAEIR — TR e
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110. Who has been chosen for Indira

111.

Gandhi Prize for Peace, Disarma-

ment and Development for 2017 ?
(A) Pranab Mukharjee

(B) Manmohan Singh

(C) Kapil Sibbal

(D) P. Chidambaram

Which person of Indian origin got
Australia’s highest civilian honour
for his contribution in the field
of medicine and work for the

community ?

(A) Purshottam Sawrikar

(B) Makhan Singh Khangure
(C) Vijay Kumar

(D) All of the Above

TBC : PNT2018—C

42

112.

113.

| 114.

Who has been conferred yvith

" France’s highest civilian honour —

Legion d’Honneur in 2017 ?
(A) Sachin Tendulkar

(B) Soumitra Chatterjee

(C) Amitabh Bachchan

(D) Satyajit Ray

Among the following which Indian

Judge has been elected to

International Court of Justice ?
(A) Nagendra Singh

(B) Jagdish Bhagwati

(C) Deepak Mishra

(D) Dalveer Bhaﬁdari

“Paradise Papers” recently leaked

are related to which matter.?
(A) Secret Documents of RAW
(B) Secret Documents of KGB
(C) Secret Documents of CIA

(D) Investments in Secrét Tax -

Heavens



110. 7= § & &3 2017 =1 sfey i

111.

Wi, FRetew @ fawm w1 e
fea w2

(A) WU HEsT

(B)wﬁe-—rﬁ%'

(C) =fta fasa

(D) i feagras
ﬁmﬁﬁmuﬂ?ﬂa@%aﬁ%ﬁ

< T Wt e § A 3

refean 1 gatsg T T9E ToH

f& T 2
(A) JEUH HERET
(B) maen fdg @R

(C) fos@ #uR

(D) 3TH Tt *
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112.

113.

114.

Pt 4 R FRd 2017 3T WiE =
watea TR T e s
f??ﬂ.mﬂ?

(A) HfE dgae

F AR AT F WS A

™ 2
(A) 7% fo
(B) SPIEIST STeret
(C) <y s
(D) TAER Herd
A # @i g e oy e
gafm % 2
(A) ¥ & Ta IwE
(B) &®Sfdl. & T@ R
(C) H.aET. & o T&Es
D) T §
| P.T.O.



115.

116.

117.

Which countries have declared their

intentions to leave UNESCO ?
(A) USA and Israel

(B) Syria and Iran

(C) China and Pakistan

(D) Korea and Japan

Which organization won the Nobel |

Peace Prize in 2017 ?
(A) UNESCO

(B) WHO

(C) ICAN

D) ILO

Ninth Summit of BRICS in 2017

was held in which country ?
(A) Russia
(B) China
(C) India

(D) South Africa

TBC : PNT2018—C
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118.

119.

120.

How many countries are members

of SAARC ?

(A) 8

B) 7

(C) 6

D) 5

Who is Secretary General of UN ?
(A) Kofi Annan

(B) Anténio Guterres

(C) Ban-ki-Moon

(D) Pérez de Cuéllar

At present who is Prime Minister of

Pakistan ?

(A) Shahid Khagan Abbasi
(B) Nawaz Sharif

(C) Benezir Bhutto

(D) Asif Ali Zardari



115. TR ® B F g= 5 /W ¥ | 115wy (V%) & @ frat =e= £ 2
= H 2

(A) 8
(A) fF w8 ToREe
‘ B) 7
(B) Hiftn wd &
| , ©) 6
(C) =1 wd uifrH
(D) 5

(D) ®IR& wd <mH

116. ¥ 2017 F1 Faet Wi @R fg | 119 FIR U wewlwm @9 € 2

e &t fear o 2 (A) HHR 3F=H
(&) TR (B) s Trw
(B) s TN (C) TH-F-77
(C) EH.Tw.

(D) WS &Y. TR
(D) 5. Ta. 3.

120. 9499 # Uferw™ & gum w95 SN
117. 99 2017 =1 T &1 Al oM fFg "
?

1 H g ?
e (A) wifgg BWrehd Tt
(B) 99 (B) a1 IO%
(C) ¥R (C) SR 2t
(D) IO 3rwTeRT (D) fa® It wer
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